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I


1. -(Dyslexia)



(A)      


(B) 


(C) 

(D) 


2. 


(A) 

(B) 

(C) 

(D) 

3. 

(A) 

(B) 

(C) 

(D) 

4.        


(A)    

(B)  

(C) 

(D) 

5.      


(A) 

(B)      


(C) 

(D) 

6. -


(A)  

(B) 

(C) 

(D) 

7. 
2009 

(A) 1 2009

(B) 1 2010

(C) 1 2009

(D) 1 2010

8. NCF 2005 


(A) 

(B)        


(C) (A) (B) 

(D) 

9. 



(A) 

(B) 

(C) 

(D) 

10.        
        


(A)  

(B)  

(C)  

(D) 

11. 
  

 

(A) 

(B) 

(C) 

(D) 

12. 

(A)  (B) 

(C)  (D) 

13. 


(A)  

(B)  

(C) 

(D) 

14.    


(A)  (B) 

(C)  (D) 

15.    - (Pseudo

Maturity) 

(A)  (B) 

(C)  (D) 

16. 

(A)  (B) 

(C)  (D) 

17. 

(A) 

(B)  

(C) 

(D) 

18. 

(A)  (B) 

(C)   (D) 

19. 


(A)  (B) 

(C)  (D) 

20. 


(A) 

(B) 

(C) 

(D) 

21. 

(A) 

(B) 

(C) 

(D) 

22. 

(A) 

(B) 

(C) 

(D) 

23. 


(A)  (B) 

(C)  (D) -

(6-8) , 2015
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24.      


(A) 13 (B) 15

(C) 16 (D) 14

25.     


(A)   

(B) 

(C)   

(D) 

26. 

(A)  

(B)  

(C)  

(D)  

27.   


(A) 90 (B) 110

(C) 135 (D) 120

28.        


(A)  (B) 

(C)  (D) 

29. 

(A) 

(B) 

(C) (A) (B)

(D) 

30.       
 



(A) 

(B) 

(C) 

(D) 

II

I
31. 


(A)   (B)  

(C)   (D) 

32. 

(A)  (B) 

(C)  (D) 

33. 

(A)  (B) 

(C)  (D) 

34.     -  


(A)  (B) 

(C) - (D) 

35. 

(A)  (B) 

(C) - (D) 

36. 
        


(A) 

(B) 

(C)  

(D)  

37.      


(A)    


(B)  

(C)  

(D) 

38.  A1   
       
 

(A) 91-100 (B) 81-90

(C) 90-100 (D) 71-80

39. 

(A) 

(B) 

(C) 

(D) 

40.   (CBSE)  10



(A) 2010-11 (B) 2009-10

(C) 2009 (D) 2008

4145


 



      

      
  -    





 

      

   






41. 

(A)   

(B) 

(C) 

(D) 

42. -

(A)  (B) 

(C)  (D) 

43. -


(A)  (B) 

(C)  (D) 

44. 

(A)  

(B)  

(C)  

(D)  

45.   

(A) 

(B)  

(C) 

(D) 

4650


 

     




-      







46. -

(A)  (B) 

(C)  (D) 
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47. -

(A)  (B) 
(C)  (D) 

48. 

(A)  (B)  
(C)  (D) 

49. 

(A)  (B) 
(C)  (D) 

50. 
(A)  (B) 
(C)  (D) 

51. 

(A) 
(B) 
(C)   
(D) 

52. 
      

(A)  (B) 
(C)  (D) 

53. -

(A)  (B) 
(C)  (D) 

54. 
(A)  (B)  
(C)  (D) 

55. 
(A) 


(B) 
(C) --
(D) 

56.  
(A)  (B) 
(C)  (D) 

57. 

(A)  
(B)  
(C)  
(D) 

58. 
(A) 
(B) 

(C) 

(D) 

59. 


(A) 

(B) 

(C) 

(D) 

60. 

(A)  (B) 

(C)  (D) 

II

Language-I (English)

31. The best sequence for learning English

language is—

(A) Listening, Speaking, Reading, Writing

(B) Speaking, Listening, Reading,

Writing.

(C) Listening, Speaking, Writing, Reading

(D) None of these

32. A language has to be—

(A) Phonetically correct

(B) Grammatically correct

(C) Alphabetically correct

(D) Systematically correct

33. Flash cards are useful type of—

(A) Audio-visual aids

(B) Audio aids

(C) Visual aids

(D) None of these

34. A good text-book of English should

possess—

(A) Reading material

(B) Pictures and illustrations

(C) Cultural content

(D) All of the above

35. It is of great utility in teaching English

pronunciation, accent and intonation—

(A) Epidiascope (B) Films

(C) Linguaphone (D) Radio

36. Latest scheme of evaluation outlined by

the CBSE namely—

(A) Comprehensive and Continuous

Evaluation

(B) Continuous and Comprehensive

Evaluation

(C) Continuous and Communicative

Evaluation

(D) None of these

37. To cover all course in minimum time,
which type of question should be asked ?

(A) Short answer (B) Objective type

(C) Essay type (D) All of the above

38. Unit test is an expression of—

(A) Effective Evaluation

(B) Formative Evaluation

(C) Summative Evaluation

(D) Normative Evaluation

39. Pronunciation of students can be tested
through ........... type questions.

(A) Essay

(B) Objective

(C) Short answer

(D) None of the above

40. Oral test and Examinations are intended to
test—

(A) Reading (B) Comprehension

(C) Expression (D) None of the above

Direction (Q. No. 41 to 45)

Read the passage carefully and answer the
questions that follow :

Passage-1

People in the villages of Rajasthan lead a very
simple life. Their way of living has not changed
over the year. They live in circular huts. The
walls of these huts are covered with cow-dung.
Every hut has a small place for worship. The
life of these people is full of difficulties. It is
very hot in summers and cold in winters. Wa-
ter. is a major problem some times they have
to walk a long distance to get drinking water.
For their agriculture they depend on rain. But
these people are very brave. They have learnt
to face difficulties and they never lose hope.
They also like to enjoy their life. Women like
to wear dresses full of bright colours. People
living in villages in Rajashtan have a rich tra-
dition of music and dance. The people of
Rajasthan are very proud of their culture.

41. Which of the following words is a syn-
onym for ‘brave’ ?

(A) Hardworking (B) Prosperous

(C) Valliant (D) Courageous

42. The antonym of ‘bright’ is—

(A) Colourful (B) Dull

(C) Transparent (D) None of these

43. Which of the following words is correctly
spelt ?

(A) Immediate (B) Imimediate

(C) Immedieta (D) Imediate

44. ‘Their way of living’ can be replaced with
the word—

(A) livelihood (B) liveliness

(C) lifelike (D) lifestyle
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45. Find the correct one word for the phrase
given below—

‘Countryside of a nation’

(A) Rural (B) Urban

(C) National (D) Inhabitants

Direction (Q. No. 46 to 50)

Read the passage and answer the questions
that follow :

Passage-2

Most children start watching television long
before they enter school. Many doctors have
come to the conclusion that children up to the
age of two years should not watch TV. The
doctors are of the view that the first two years
of life are very important for the development
of a child’s brain. Spending time with parents
and others encourages learning and healthy
physical and social development. As children
get older, TV can be watched to a limited ex-
tent. Children preparing to enter school can
learn the alphabet and numbers from educa-
tional programmes. They can also learn about
wildlife on nature shows. TV can be an excel-
lent educator as well as entertainer for chil-
dren.

46. Both the words ‘Children’ and ‘Entertainer’
are—

(A) nouns (B) pronouns

(C) verbs (D) adverbs

47. The verb in the clause ‘they enter school’
is in—

(A) simple past tense

(B) simple present tense

(C) present perfect tense

(D) present continuous tense

48. Which of the following has the three de-
grees of the adjective in their correct form ?

(A) Poor, more poor, poorest

(B) Important, most important,

importantest

(C) Old, older, oldest

(D) Thin, thinner, more thinner

49. In the phrase ‘a good thing’ the determiner
used is—

(A) good (B) thing

(C) a thing (D) a

50. Conjunctions in the passage are—

(A) that, and (B) about, and

(C) that, also (D) about, also

51. Which of the following sentences has the
correct structure of question ?

(A) How long will you take to finish your
work ?

(B) How did long you will take to finish

your work ?

(C) How long you take to finish your
work ?

(D) How long you will take to finish your
work ?

52. The passive voice form of the sentence–
‘She will write a letter.’ will be—

(A) A letter will written by her

(B) A letter will be written by her

(C) Written a letter will be by her

(D) Will a letter be written by her

53. The passive form of the sentence–‘Who
will help you ?’ will be—

(A) By whom will you be helped ?

(B) Whom will you be helped

(C) You will be helped

(D) Whom will be you are helped ?

54. Consonants sounds are—

(A) 26 (B) 24

(C) 27 (D) 28

55. Phonetic symbols are—

(A) 44 (B) 40

(C) 48 (D) 52

56. Which one of the following is not included
under the principles of English teaching ?

(A) Principle of Natural Process

(B) Principle of purpose

(C) Principle of uprooting from culture

(D) Principle of selection

57. The criteria to choose a particular course
for particular class is called—

(A) The Principle of Selection

(B) The Principle of Gradation

(C) The Principle of Proper order

(D) The Principle of Motivation

58. The unit of teaching in Direct method is—

(A) Word (B) Sentence

(C) Phrase (D) None of these

59. Alphabetic method is also known as—

(A) Word method

(B) Syllabic method

(C) Spelling method

(D) Phrase method

60. In which method teacher states rules and
gives examples ?

(A) Inductive method

(B) Deductive method

(C) Translation method

(D) None of these

II

I
31.   

(A)  (B) 
(C)  (D) 

32. 
(A)  (B) 
(C)  (D) 

33. 

(A)  

(B) 
(C) 

(D)  
34.    

(A) 

(B)  
(C) 
(D) -

35.  
(A) 
(B) 
(C) 
(D) 

36.    


(A)  (B) 
(C)  (D) 

37. 
(A)  (B) 
(C)  (D) 

38.   
(A)  (B) 
(C)  (D) 

39.    

(A) 
(B) 
(C) 
(D) 

40. 

(A)  

(B) 
(C) 

(D) 

4145

    


    

         
    
     

      
 
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41.  
(A) 

(B) 

(C)  
(D)  

42. 

(A)  (B) 
(C)  (D) 

43.  

(A)  (B) 
(C)  (D) 

44. 

(A)  (B) 
(C)  (D) 

45.     
 
(A)  (B) 

(C)  (D) 

4650

    




            
  - 
 
    

-    


46. 


(A) 

(B) 

(C) 

(D) 

47. 

(A) +  (B) + 

(C) +  (D) + 

48. 

(A)  (B) 

(C)  (D) 

49. 

(A)  (B) 

(C)  (D) 

50. 

(A)  (B) 

(C)  (D) 

51.    
  

(A)   
(B)   
(C)   
(D)   

52.  
  

(A)   
(B)   
(C)   
(D)   

53. 

(A)  (B) 
(C)  (D) 

54.  
- 
(A)  (B) 
(C)  (D) 

55. 

(A) 
(B) 
(C) 
(D) 

56. 
(A)  (B) 
(C)  (D) 

57. + 
(A)  (B) 
(C)  (D) 

58. 
(A)  
(B) 
(C)  
(D) 

59.   
(A) 
(B) 
(C) 
(D) 

60.   
(A)  (B) 
(C)  (D) 

III

II
61. 

(A)  (B) 
(C)  (D) 

62. -

(A) 

(B) 

(C) 

(D) -

63. 


(A) 

(B) 

(C) 

(D) 

64.  


(A)   (B) 

(C)  (D)  

65.     - 
-

(A)  (B) 

(C) - (D) 

66.  

(A)  

(B)  

(C) 

(D) 

67. 

(A) 

(B) 

(C) 

(D) 

68. 

(A) 

(B) 

(C) 

(D) 

69.     


(A)  

(B)  

(C) - 

(D) 

70. 

(A)  (B) 

(C)  (D) 

71. 

(A) 

(B) 

(C) 

(D)  
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72. 


(A)  

(B)  

(C)  

(D) 

73. 
      


(A) -

(B) 

(C) 

(D) 

74. - 


(A) - 

(B)  

(C)  

(D) 

75. 

(A)  (B)  

(C)  (D) 

76. 

(A)   (B)  

(C)   (D)  

77. 

(A)  (B) 

(C)  (D) 

78. 


(A)  (B)  

(C)  (D) 

79. 

(A)  (B) 

(C)  (D) 

80. (CCE)



(A) 1986 

(B) 

(C)  

(D) 

8185


 



        
       

     
   
   -    
  


      
  


81. 

(A)  (B) 

(C)  (D) 

82. 

(A)  (B) 

(C)  (D) 

83. 

(A) 

(B)  

(C) 

(D) 

84. 

(A) 

(B)  

(C) 

(D) 

85. -  
 

(A) 

(B) 

(C) 

(D) 

8689


 

















-



86. 


(A) 

(B)  

(C) 

(D) 

87. 

(A) 

(B) 

(C) 

(D) -

88. -


(A) 

(B) 

(C) 

(D) 

89. 

(A) -    


(B)     


(C)       


(D) 


90. 

(A) 

(B) 

(C) 

(D) 

III

Language-II (English)

61. Diphthongs are—

(A) pure vowel sounds

(B) pure consonant sounds

(C) semi vowel sounds

(D) combination of two pure vowels

62. Which of the following does not have /i:/
sound ?

(A) Week (B) Bean

(C) Deep (D) Pretty

63. Pick-out the incorrect transcription—

(A) pool /pu:l/ (B) foot /fu:l/

(C) tool /tu:l/ (D) foot /fu:t/

64. How many fricative sounds are there in
English ?

(A) 8 (B) 7

(C) 9 (D) 6

65. The correct transcription of ‘thick’ is—

(A) /ik/ (B) /ick/

(C) /@k/ (D) /O:k/
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66. Which of the following is not true of first
language acquisition ?

(A) It is universal

(B) It is natural

(C) It does not require formal instruction

(D) It requires formal instruction

67. Evaluation does not ascertain—

(A) the educational standard of the
institution

(B) the administrative standard of the
institution

(C) the teaching standard of the institution

(D) the efficiency of the teachers of the
nstitution

68. Which of the following is not part of the
traditional class-room ?

(A) Text-book

(B) Chalk

(C) Computer Network

(D) Blackboard

69. To motivate and create interest among
children Harold Palmer does not suggest—

(A) Competition

(B) Game like exercises

(C) Repetition

(D) Minimum of Confusion

70. Error correction does not require—

(A) to attend to errors in a sensitive way

(B) to embarrass the learner though
correction

(C) to develop a task wherein students
can use language frame

(D) to provide good model of an expanded
grammatical utterance

71. Which of the following skills will not be
strengthened by using text-book as material
for teaching ?

(A) Effective writing

(B) Comprehension skill

(C) Grammar skill

(D) Communication skill

72. One should not learn English because—

(A) It is the language of knowledge

(B) It is window to the world

(C) It is the language of British rulers

(D) It is the language of liberal, modern
thinking

73. The students learn patterns of language by
repeating model sentences that teacher
provides. They memorize set phrases and
receive positive reinforcement from their
teacher when they perform drills. This
method is—

(A) audio-lingual method

(B) communicative approach

(C) total physical response

(D) the silent way

74. The students take all subjects in English
medium. They take part in class and school
activities with students of their age who
speak English. This approach is—

(A) task based learning

(B) grammar learning

(C) immersion

(D) translation method

75. Natural approach of learning language was
developed by—

(A) Krashen and Terell

(B) Chomsky

(C) Berlitz

(D) Henri Goiuns

Direction (Q. No. 76 to 80)

Read the passage carefully and answer the
question that follow :

Passage

First of all, I need work, and a decent wage for
my work. Aristotle defined happiness, not as
a sum of pleasures, but as unimpeded activity.
I want work which is hard but interesting. I
am exceptionally lucky because I can choose
my own work to a large extent. If I want respite
from science I can go and be a war
correspondent, or write children's stories, or
make political speeches.

I require friendship. Particularly I require
friendship of my colleagues and comrades in
scientific and political work. I want the society
of equals who will criticize me, and whom I
can criticize.

76. Conjunction in sentence 3 is—

(A) want (B) hard

(C) but (D) interesting

77. According to Aristotle, happiness is—

(A) a sum of pleasures

(B) unimpeded activity

(C) impeded activity

(D) hard work

78. The author requires friendship of—

(A) political leaders

(B) teachers

(C) fellow workers

(D) young children

79. How many connectors are there in
sentence 5 ?

‘‘If I want respite..........political speeches.’’

(A) 2 (B) 3

(C) 4 (D) 5

80. Why does the narrator want work ?

(A) To get decent wages

(B) To make friends

(C) To get happiness

(D) To write children's stories

Direction (Q. No. 81 to 85)

Read the Poem carefully and answer the
following questions :

Poem

When to the sessions of sweet silent thought,

I summon up remembrance of things past,

I sigh the lack of many a thing I sought,

And with old woes new wail my dear time's

waste;

Then I can drown an eye, unused to flow,

For precious friends bid in the death's dateless

night,

And weep afresh love's long-since-cancelled

woe,

And moon the expense of many a vanished

sight.

81. ‘sessions of sweet silent thought’ is an

example of—

(A) alliteration (B) assonance

(C) imagery (D) simile

82. The rhyme scheme in the poem is—

(A) abba (B) abab

(C) baab (D) bacd

83. Which of the following words taken from

the poem is an example of personification ?

(A) eye

(B) time

(C) love's

(D) none of the above

84. Pick out the correct example of metaphor.

(A) eyes like two lamps

(B) the ship of life moves on

(C) rosy lips and cheeks

(D) as white as snow

85. What is hidden in ‘death’s dateless night’ ?

(A) beloved (B) poet

(C) friend (D) eye

86. Fill in the blank with an appropriate

‘modal’—

He is ill. He .......... see a doctor.

(A) can (B) would

(C) could (D) must

87. Fill in the blank with the appropriate prepo-

sition.

He is angry ......... me.

(A) on (B) upon

(C) with (D) at

88. Elegy is a—

(A) praise of a political leader

(B) lamenting the death of a dear one

(C) evaluating the work of people

(D) eulogizing the birth of a child
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89. The subject matter of this sonnet is—

(A) biography of a person

(B) courage

(C) love

(D) revenge

90. Drama differs from poetry as—

(A) it has metaphor

(B) it has action

(C) it has rhyme scheme

(D) it is always written in stanzas

III

II
61. 

(A) 63 64 (B) 40 50

(C) 32 33 (D) 26 27

62. 

(A)   (B) 

(C)  (D) 

63. 

(A)  (B) 

(C)  (D) 

64.     
 

(A)  (B) 

(C)  (D) 

65. 

(A) 

(B) 

(C) 

(D) 

66. 

(A)  (B) 

(C)  (D) 

67.  

(A)  (B) 

(C)  (D) 

68.   

(A) 

(B) 

(C) 

(D) 

69.  

(A)  (B) 

(C)  (D)  

70. 

(A)  (B) 

(C)  (D) 

71. 

(A)  (B) 

(C)  (D) 

72. 

(A)  (B) 

(C)  (D) 

73.  

(A) 

(B) 

(C) 

(D) 

74. 

(A)  (B)  

(C)   (D) 

75. 

(A) 

(B) 

(C) 

(D) 

76. 

(A)  (B) 

(C)  (D) 

77.   

(A)  (B) 

(C)   (D) 

78.  

(A)  

(B)  

(C)  

(D)    

79.    

(A)  (B) 

(C)  (D) 

80.   

(A)  

(B) 

(C)  

(D) 

8185

    



     
     
   
     

      
    

         
      

     


81. 

(A)  (B) 

(C)  (D) 

82.    

(A)  

(B)  

(C)  

(D)  

83. 

(A)  (B) 

(C)   (D) 

84.  

(A) +  (B) + 

(C) +  (D) + 

85. 

(A)  (B) 

(C)  (D) 

8690

    










86. 

(A)  (B) 

(C)   (D) 

87. 

(A) + + + 

(B) + + 

(C) + 

(D) + + + 

88. 

(A) + 

(B) + 

(C) + 

(D) + 

89. 

(A) 

(B) 

(C) 

(D) 
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90. 


(A)   

(B) 

(C) 

(D) 

IV



91. 

(A) 

(B) 

(C) 

(D) 

92. 

(A) 

(B) 

(C)     


(D) 

93. 

(A) 

(B) 

(C) 

(D) 

94. 

(A)  (B) 

(C)  (D) 

95. 

(A) 

(B) 

(C) 

(D) 

96. 

(A)  

(B) 

(C)  

(D) 

97. -


(A)  (B) 

(C)  (D) 

98. 

(A) 

(B)  

(C)  

(D) 

99. 
(A)  (B) 
(C)  (D) 

100. 
(A)  
(B) 
(C) - 
(D) 

101.   5 23 9  = 3 3 3n   n 


(A) 3 (B) 2

(C) 5 (D) 6

102. 2x + 4y – 8xy – 1 = ?

(A) (1 + 4y) (2x – 1)

(B) (1 – 4y) (2x – 1)

(C) (1 – 4y) (2x + 1)

(D) 
103. 3x + 7y = 75, 5x – 5y = 25 (x + y)


(A) 17 (B) 16

(C) 18 (D) 15

104. 625 484  
(A) 47 (B) 56

(C) 52 (D) 35

105. 3 30.000729 0.008  

(A) 0.1 (B) 0.5

(C) 0.06 (D) 0.8

106. 8 

(A) 11.0% (B) 12.5%

(C) 12% (D) 13.5%

107. (a + b) : (b + c) : (c + a) = 6 : 7 : 8 
a + b + c = 14 c =

(A) 6 (B) 7

(C) 8 (D) 14

108.      ` 30,000 
` 45,000 2
` 1,50,000 

(A) ` 30,000 (B) ` 45,000

(C) ` 75,000 (D) 

109.
1

%
2

 

(A) 0.0005 (B) 0.005

(C) 0.05 (D) 0.5

110. 5 9 
15 

(A) 6  (B) 7 
(C) 5  (D) 8 

111.     AOB    
OC a : b =

2 : 1 a 

A B

C

O 

a 
b

(A) 80º (B) 100º

(C) 120º (D) 140º

112. ABC 3 A = 4 B = 6 C 
A = ?

(A) 60º (B) 80º

(C) 30º (D) 40º

113.       O  
ACB = 40º, AOB =

40º

A B

C

O

(A) 30º (B) 40º

(C) 60º (D) 80º

114. 3 


(A) 3 (B)
1

3

(C) 9 (D) 

115. 12 9 
8 


(A) 17  (B) 16 

(C) 15  (D) 14 

 116117 



-
      

  
 

A 1.25 7 : 3

B 3.14 5 : 3
C 1.08 4 : 5
D 2.27 1 : 3

E 1.85 3 : 2

F 2.73 7 : 5
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116. E 


(A) 13000 (B) 1110000

(C) 113000 (D) 111000

117.        


(A) F (B) C

(C) B (D) D

118. 

(A) 

(B)   

(C) 

(D) 

119  120 

  
      
      
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119. T 

(A) 500 (B) 600

(C) 750 (D) 850

120. P Q 


(A) 1425 (B) 2750

(C) 1450 (D) 1625

121. 


(A) 

(B) 

(C) 

(D) 

122. 

(A)  (B) 

(C)  (D) 

123. - 

(A)  (B)  

(C)  (D) 

124.       -
-




(A) 

(B) 

(C) 

(D) 

125. -

(A)  

(B) - 

(C)  

(D) 

126. 

(A)   (B) 

(C)  (D)  

127. 

(A)  

(B) 

(C) 

(D) 

128.    -    
-

(A)  (B) 

(C)  (D) -

129. -

(A) 

(B)   

(C) 

(D) 

130. 

(A) -

(B)     
 

(C)  

(D) 

131.  

(A)  

(B)  

(C)  

(D) 

132. -

(A)  (B) 
(C)  (D) 

133. 
 
(A)  (B) 
(C)  (D) 

134. 
(A) 
(B) 
(C) 
(D) 

135.         -

(A)   (B) 
(C)  (D) 

136.      

(A)  
(B) 
(C) 
(D)  

137. 

(A) 37 (B) 37 
(C) 37  (D) 37 

138. 
(A) 104 (B) 10+5

(C) 103 (D) 106

139. -
    

(A) 
(B) 
(C) 
(D) 

140. 332 


(A) 996 
(B) 664 
(C) 166 
(D) 332 

141. 
(A) 11.2 
(B) 11.2 
(C) 11.2 
(D) 11.2 

142. 
(A)  (B) 
(C)  (D) 
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143. CaO SiO2 

(A) 40-45% 10-15%

(B) 85-90% 40-46%

(C) 60-68% 17-24%

(D) 3-10% 80-90

144. 
(i) 
(ii) 
(iii) 
(iv) 
(v) 
(vi)  
(A) (i), (v) (vi)

(B) (ii), (iii) (iv)

(C) (i), (ii) (iii)
(D) 

145. 


(A) 

(B) 

(C) 

(D) 

146.       
 

(A)    


(B)    


(C)     


(D)    


147.  -


2PbO(S) + C(S)  2Pb(S) + CO2(g)

(i) 

(ii) 

(iii) 

(iv) 

(A) (i) (ii) (B) (iii) (iv)

(C) (i), (ii) (iii) (D) 

148.   


2FeSO4. 7H2O 


 M 


X + Y + Z

(A) M = FeSO4, X = FeO, Y = SO2,

Z = SO3

(B) M = Fe2(SO4)3, X = Fe2O3,

Y = SO2, Z = H2O

(C) M = FeSO4, X = Fe2O3, Y = SO2,

Z = SO3

149. 

(A)     10  




(B)    1  




(C)      1   




(D)      1   

    


150. 8 

� (A) 15.1 × 1023 (B) 1.51 × 1023

(C) 15.1 × 1013 (D) 1.15 × 1013





1. (B)     

     

      



     



 

 



 

 

  



2. (C)       

   

   



3. (A)   

       




 

4. (B) 
 
     



5. (B) 
               
     
     
     
 


6. (D) 

     




7. (B)  
2009 1 2010 

     6-10 




8. (C) NCF 2005 

 

     
 

   


 
 

     


    
 

9. (B) 
  
     
 


      

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10. (B)   
 

     
 
 

 

11. (B)     
     

      
 

12. (A) 


     




(1)  

(2)   
 

13. (D)      

      



 

 
14. (C) 



       



        
    
 



15. (B) 
      



16. (B)   
    


     
      



       
   
 

17. (C)    
     

 
 
 
  
 
 
 
 
  

18. (A)      


 

19. (B)  


20. (B) 
    
       


     


21. (A) 
  
      


22. (C) 




      

      




23. (A)    

      
        

   


24. (C)      
    
    16


     


25. (C)     
Thematic Apperc-

eption Test- TAT1935

    



26. (A)      
 

      


27. (D) 
  

120 

28. (B) 



29. (C)    


30. (B) 
       
      
      


I
31. (A)  





32. (A) 


33. (C) 
34. (C)     - 


35. (B) 
36. (A) 
37. (A) 




38. (A) 91-100 
39. (C)     

 
40. (A) 2010-11 
41. (B)       

      


42. (A) + =


43. (D) 

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44. (A) 


45. (C)       


46. (D) 
47. (A) 
48. (B)     




49. (B) 
 

50. (C) 
51. (A) 
52. (C)    


53. (C) 


54. (B) 

 
55. (D) 


56. (D) 


57. (C) 


58. (D) 
59. (D) 
60. (C) 

Language-I (English)

31. (A) Listening, Speaking, Reading, Writ-

ing is the best sequence for learning.

32. (B) A language has to be grammatically

correct.

33. (C) Flash cards are useful type of Visual

aids.

34. (D) All of the above.

35. (C) Linguaphone.

36. (B) Latest scheme of evaluation outlined

by the CBSE is Continuous and

Comprehensive Evaluation.

37. (B) Objective type questions should be

asked.

38. (B) Unit test is an expression of

formative evaluation.

39. (D) None of the above.

40. (D) All of the above.

41. (D) ‘Courageous’ brave 
 synonym 

42. (B) ‘bright’ op-

posite dull 
43. (A) Immediate spell-

ing 
44. (D) Lifestyle 

45. (A) Rural – 
‘Countryside of a nation’  


46. (A)  ‘Children’  ‘Enter-

tainer’ Nouns 
47. (B) sentence enter (V1) simple

present tense 
48. (C) Old, older, oldest, degree of adjective


49. (D) ‘a good thing’ – (‘a’ – determiner +

‘good’ adjective + ‘thing’ – Noun)

50. (A) that, and passage conjunction


51. (A) How long will you take to finish your

work ? structure [Q.

Word + will/shall + S + V1 + obj. ?]

52. (B) Active Voice Passive

Voice ‘A letter will be written by

her’  Passive Voice Structure

Sub + will /shall + be + V3 + (by +

Agent) ?

53. (A) Active Voice Passive

Voice  By whom will you be

helped?

54. (B) Consonants sounds are 24.

55. (A) Phonetic symbols are 44.

56. (C) Principle of uprooting from culture

is not included under the principles

of English teacher.

57. (A) The Principle of Selection.

58. (B) The unit of teaching in direct method

is Sentence.

59. (C) Alphabetic method is also known as

Spelling method.

60. (B) In Deductive method teacher states

rules and gives examples.

I

31. (B) 

32. (C) 

33. (A)  

34. (D) -

35. (D) 

36. (B) 
37. (A) 

38. (C) 
39. (B) 

40. (D) 
41. (A) 
42. (D) 

43. (B) 

44. (D) 

45. (C) 

46. (D) 

47. (A) + 

48. (C) 

49. (B) 

50. (D) 

51. (A)

52. (C)  

53. (A) 

54. (C) 

55. (D) 

56. (B) 

57. (D) 

58. (D) 

59. (B) 

60. (D) 

II

61. (A) 
 


62. (D)       


63. (B) 

64. (B) 


65. (C) -
 

66. (B) 

67. (C) 


68. (C)      


69. (A)      


70. (D) 

71. (A) 

72. (C)      
 

73. (C) 

74. (B) 


75. (C) 

76. (B)       
 

77. (C) 

78. (D) 

79. (B) 

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80. (A)    1986  
 


81. (A) 

82. (B) 

83. (D) 
 

84. (A)      


85. (B) 


86. (B)  
 

87. (D) -
88. (C) 



89. (B)     


90. (A) 


Language-II (English)

61. (D) Diphthongs are combination of two
pure vowels.

62. (D) Pretty does not have /i:/ sound

63. (D) foot /fu:t/ is incorrect transcription.

64. (C) There are 9 fricative sounds.

65. (A) /ik/ is correct transcription of
‘thick’.

66. (D) It requires formal instruction.

67. (B) Evaluation does not ascertain the ad-
ministrative standard of the institution.

68. (C) Computer Network is not part of the
traditional class-room ?

69. (C) Harold Palmer does not support Rep-
etition.

70. (B) Error correction does not require to
embarrass the learner though correc-
tion.

71. (D) Communication skill

72. (C) because it is the language of British
rulers.

73. (A) This method is audio-lingual method.

74. (C) This approach is called immersion
approach.

75. (A) Natural approach of learning language
was developed by Krashen and Terell

76. (C) but

77. (B) unimpeded activity = 
78. (C) Author requires friendship of fellow

workers.

79. (C) There are 4 connectors in sentence 5
If, and, or.

80. (C) The narrator wants work to get hap-
piness.

81. (A) The said line is an example of allitera-

tion– 
82. (B) abab is the rhyme scheme in the poem.

83. (C) Love’s If in represented as though it

is a human that has woes.

84. (B) The phrase—‘rosy lips and Cheeks’

the corect example of metaphor.

85. (C) ‘Friend’ is hidden in ‘death dateless

night’.

86. (D) must or-

der, command, compulsion duty


87. (C) with angry with

somebody angry at something 


88. (B) An elegy is a sad poem, usually

written to praise and express sorrow

for someone who is dead.

89. (C) The subject matter of this sonnet is

'love'.

90. (B) Drama differs from poetry as it has

action.

II

61. (A) 63 64

62. (D) 

63. (C) 

64. (B) 

65. (A) 

66. (A) 

67. (A) 

68. (C) 

69. (B) 

70. (D) 

71. (C) 

72. (A) 

73. (C) 

74. (C)  

75. (C) 

76. (B) 

77. (D) 

78. (D)    

79. (A) 

80. (D) 

81. (C) 

82. (B)  

83. (C)  

84. (A) +  (C) + 

85. (B) 

86. (C)  

87. (A) + + + 

88. (B) + 

89. (A) 

90. (C) 



91. (A) 

92. (D)      



93. (D) 


94. (D) 


95. (D) 


96. (C) 


97. (D)        



98. (D)     
 


99. (D) 
 
 

100. (C) 
 

101. (C)  3 23 9 = 3 3 3n 

    5/ 2 4
3 3 =  3/ 2

3 3n 

 
5

4
23
 =  

3

23
n


13

2
=

3

2
n 

 n =
13 3

– 5
2 2



102. (B) 2x + 4y – 8xy – 1

 2x – 1 – 8xy + 4y
 1 (2x – 1) – 4y (2x – 1)

 (2x – 1) (1 – 4y)

103. (A) 3x + 7y = 75 ...(1)

5x – 5y = 25 x – y = 5

 2x – 2y = 10 ...(2)

(1) (2) 

5x + 5y = 85

 x + y = 17

(A) 
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112. (B) 3A = 4B = 6C


A

4


=

B

3


 = 

C

2



12 

 A : B : C = 4 : 3 : 2

 A =
4

180º
4 3 2


 

=
4

180º
9
  = 80º

113. (D)      


 AOB = 2 × ACB

AOB = 2 × 40º = 80º

114. (A)  = 2r

R = 3r,

= 2R

= 2 × 3r
= 3 × 2r

= 3 × 

(A) 

115. (A) 

= 2 2 2l b h 

=      2 2 2
12 9 8 

= 144 81 64 

= 289

= 17 

116. (D)  =
3

185000
3 2




=
3

185000
5


= 3 × 37000

= 111000

117. (D)

   

  

A 125000 87500 37500

B 314000 196250 117750

C 108000 48000 60000

D 227000 56750 170250

E 185000 111000 74000

F 273000 159250 113750

D 


118. (C) 

119. (C) 

=  1250 (100 – 40)%

= 1250 × 
60

100
 = 750

120. (B)  =
2500 3000

2



=
5500

2
 = 2750

121. (A)        


Ca(OH)2 + Cl2  CaOCl2 + H2O

    

122. (B) 
     


123. (B)   

124. (B)  
     
  
     


125. (A)   


126. (C) 
     


(i) (ii) (iii)
 

127. (B)     




128. (B)      

      
   


129. (C) 
  

   


130. (B)     


131. (C)    
     


      
 

132. (A)        
 

104. (A) 625 484 = 25 + 22 = 47

105. (B) 3 30.000729 0.008

= 3 0.027 0.2

= 0.3 + 0.2 = 0.5

106. (B) = r%; = 2P – P = P;

= P

  =
100




  

r =
P 100

P 8





r = 12.5%

107. (A)      a + b =  6x ...(i)

b + c = 7x ...(ii)

 c + a = 8x ...(iii)

  2(a + b + c) = 21x

 21x = 2 × 14

x =
4

3

 a + b + c = 14

6 × 
4

3
+ c = 14

 c = 6

108. (D) = 30 : 45

    = 2 : 3



=
3

150000
2 3




= 3 × 30000

= 90000

109. (B)
1

%
2

=
1 1

2 100


=
1

200
 = 0.005

110. (A) = x 



(x – 5) (x + 9) = 15

 x2 + 4x – 45 = 15

 x2 + 4x – 60 = 0

 (x +10) (x – 6)= 0

 x = – 10 6 
111. (C) a : b = 2 : 1

a + b = 180º



 a =
2

180º
2 1




a =
2

180
3


a = 120º
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133. (A)    




134. (A) 
     




135. (B)      

(B), (Cu), (Fe), (Mn),

 (Mo),  (Zn), 
(Ni),   (Cl)  


136. (D)        

 

137. (A) 
37°C 98.4°F 

138. (B) CGS 
1 = 10+5 


139. (C) 

     



140. (D) 332 





141. (A) 11.2 km/s

  

    





Ve = 2 Reg

Ve = g = 

Re = 

142. (D) 

143. (C) 60-68% Cao 17-

24% SiO2 



144. (D) 

145. (B) 


146. (A)     
      

      
 

147. (B) 2PBO(s) + C(s) 

2Pb(s) + Co2(g)   
      
    
III IV 

148. (C) 2FeSO4. 7H2O 


FeSO4




Fe2O3 + SO2 + SO3

(D) M = Fe2(SO4)3, X = FeO, Y = SO2,

Z = H2O

149. (D)      1   

     


150. (B) 1.51 × 1023

1.51 × 10238 




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